

### Pay Estimate Created Date: July 1, 2024

Progress Estin 8	nate Number	Contract ID Prime Contractor	230915-A02 BRS Construction, LLC			Original Contract Amount Net Change Order Amount Current Contract Amount	\$584,138.50 \$0.00 \$584,138.50
Approval Date							By User
July 2, 2024		(	Generated and Approved	(and should be cons	idered Draft) at	the Project Office Level by	claypt2
July 2, 2024		Revie	ewed and Approved (and	should be considere	ed Draft) at the F	Resident Engineer Level by	gillej
July 3, 2024			Reviewed	and Approved at the	e Central Office	Controllers Office Level by	ramses1
Original Comp	letion Date	Current Comp	letion Date Act	ual Completion Dat	e %	of Current Contract Amount	Complete

Decem	ber 1, 2024	Decem	ber 1, 2024					96.55%	
Cont	ract Informationa	I Dates			95				
Date Description	Original Completion Date	Current Completion Date	Date	Description	Origin Complet Date	tion	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Acceptance Date			Chula - Calendar	Time for Completion	May 26, 2	024 N	May 26, 2024	Milestone Complete	
Awarded Date	October 12, 2023	October 12, 2023	J1S3393 - Calend Completion of the		June 28, 2	2024 J	lune 28, 2024	Milestone Complete	
Letting Date	September 15, 2023	September 15, 2023	Ludlow - Calenda	r Time for Completion	April 27, 2	2024 A	April 27, 2024	Milestone Complete	
Notice to Proceed Date	November 6, 2023	November 6, 2023							
Open to Traffic Date									
Work Began Date	March 11, 2024	March 11, 2024							

Contract Total Pa	ay For Estimate No. 8			
		This Estimate	Previous	To Date
230915-A02				
	Total Posted Items Pay	\$78,377.95	\$485,615.40	\$563,993.35
	Gross Item Adjustments	(\$11,432.57)	(\$4,514.27)	(\$15,946.84)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-		\$481,101.13	\$548,046.51
<b>Contract Total Pa</b>	yable This Estimate:	\$66,945.38		

# Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1S3393	0040	2071000	LINEAR GRADING CLASS 1	STA	\$1,500.000	19.5	\$29,250.00
	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$15.000	447.6	\$6,714.00
	0070	6039902	WATER	EA	\$1,200.000	2	\$2,400.00
	0100	6081010	CONCRETE CURB RAMP	SQYD	\$130.000	16.8	\$2,184.00
	0120	6085007	PAVED APPROACH, 7 IN.	SQYD	\$70.500	14	\$987.00
	0130	6085008	PAVED APPROACH, 8 IN.	SQYD	\$75.000	156.5	\$11,737.50
	0140	6086004	CONCRETE SIDEWALK, 4 IN.	SQYD	\$58.500	297.7	\$17,415.45
	0260	8025006	MULCHING	ACRE	\$2,500.000	0.5	\$1,250.00
	0270	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$3,500.000	0.5	\$1,750.00
	0300	9031270A	2 IN. PSST POST - 12 GA.	LF	\$35.000	74	\$2,590.00
	0310	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	EA	\$300.000	7	\$2,100.00
Project J1S33	93 - Total						\$78,377.95
Overall - Total							\$78,377.95



Pay Estimate Created Date: July 1, 2024

Progr		imate Number 8	Contract ID Prime Cont		15-A02 Construction, LLC			r Amount \$	584,138.50 60.00 584,138.50
ontract A	Adjustm	ents This Estima	<u>te</u>						
		tments Exist on Co							
ine Item .	Adjustn	nents This Estima	ate						
Project Number	Line No.	Item Descr	iption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3393	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	185.1	(\$0.12)	(\$21.96
	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	44.3	(\$0.12)	(\$5.26
	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	61.3	(\$0.12)	(\$7.27
	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	56.4	(\$0.12)	(\$6.69
	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 1 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	100.5	(\$0.12)	(\$11.92
	0050	TYPE 1 AGGRE BASE (4	EGATE FOR 4 IN. THICK)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-40	\$14.88	(\$595.25
	0100	CONCRETE C	URB RAMP	Overrun			-5.6	\$130.00	(\$728.00
	0100	CONCRETE C	URB RAMP	Overrun			-6.7	\$130.00	(\$871.00
	0120	PAVED APPR	OACH, 7 IN.	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	14	(\$0.44)	(\$6.09
	0120	PAVED APPR	OACH, 7 IN.	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-14	\$70.06	(\$980.91
	0130	PAVED APPR	OACH, 8 IN.	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	44.3	(\$0.47)	(\$21.02
	0130	PAVED APPR	OACH, 8 IN.	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	55.8	(\$0.47)	(\$26.48
	0130	PAVED APPR	OACH, 8 IN.	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	56.4	(\$0.47)	(\$26.77
	0140	CONCRETE SI	IDEWALK, 4 IN.	Overrun			-58.7	\$58.50	(\$3,433.95
	0300	2 IN. PSST PC	ST - 12 GA.	Material			-74	\$35.00	(\$2,590.00
	0310	DRIVEN POS FOR 2 IN. PS		Material			-7	\$300.00	(\$2,100.00
Fotal									(\$11,432.57



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Informatic	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J1S3393	FAS S102(51)	ADA improvements	B, D, DD, K	LIVINGSTON	on Route K in Chula	i, on Route D and DD in Lu	udlow, and on Route B in Wheeling
Totals by .	Job Numbe	rs					
J1S3393		d Item Pay Item Adjustme		Item Pay	This Estimate \$78,377.95 (\$11,432.57) <b>\$66,945.38</b>	Previous \$485,615.40 (\$4,514.27) \$481,101.13	To Date \$563,993.35 (\$15,946.84) <b>\$548,046.51</b>
	Liquid	tive centive lated Damages Contract Adjus	tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1S3393, Item 9031270A, Project Item Line Number 0300, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Waiting on Certification.	claypt2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3393, Item 9031271A, Project Item Line Number 0310, Material Set 9031271A, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Waiting on Certification.	claypt2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-A02, Contract Project J1S3393, Project Item Line Number 0050, Contract Line Item Number 0050, Item 3040143, Minor Item.	Waiting on Change Order.	claypt2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-A02, Contract Project J1S3393, Project Item Line Number 0120, Contract Line Item Number 0120, Item 6085007, Minor Item.	Waiting on Change Order.	claypt2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-A02, Contract Project J1S3393, Project Item Line Number 0100, Contract Line Item Number 0100, Item 6081010, Minor Item.	Waiting on Change Order.	claypt2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-A02, Contract Project J1S3393, Project Item Line Number 0140, Contract Line Item Number 0140, Item 6086004, Minor Item.	Waiting on Change Order.	claypt2	Acknowledged

## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on	Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
										Qty		
230915-A02	J1S3393	0001	0010	2019902	MISCTREE REMOVAL	5.00	0.00	5.00	EA	5.00	\$2,000.00	\$10,000.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$45,000.00	\$45,000.00
		0001	0030	2063500	CULVERT CLEANOUT	3.00	0.00	3.00	EA	3.00	\$1,500.00	\$4,500.00
		0001	0040	2071000	LINEAR GRADING CLASS 1	57.00	0.00	57.00	STA	57.00	\$1,500.00	\$85,500.00
		0001	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	3,983.00	0.00	3,983.00	SQYD	4,023.00	\$15.00	\$60,345.00
		0001	0060	3107003	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	77.00	0.00	77.00	SQYD	76.30	\$20.00	\$1,526.00
		0001	0070	6039902	WATER	3.00	0.00	3.00	EA	3.00	\$1,200.00	\$3,600.00
		0001	0080	6042010	ADJUSTING MANHOLE	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0090	6042020	ADJUSTING BASIN OR INLET	1.00	0.00	1.00	EA	0.00	\$2,250.00	\$0.00
		0001	0100	6081010	CONCRETE CURB RAMP	107.00	0.00	107.00	SQYD	119.30	\$130.00	\$15,509.00
		0001	0110	6081012	TRUNCATED DOMES	296.00	0.00	296.00	SQFT	298.00	\$35.00	\$10,430.00
		0001	0120	6085007	PAVED APPROACH, 7 IN.	385.00	0.00	385.00	SQYD	454.80	\$70.50	\$32,063.40
		0001	0130	6085008	PAVED APPROACH, 8 IN.	736.00	0.00	736.00	SQYD	735.50	\$75.00	\$55,162.50
		0001	0140	6086004	CONCRETE SIDEWALK, 4 IN.	2,756.00	0.00	2,756.00	SQYD	2,814.70	\$58.50	\$164,659.95
		0001	0150	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	91.00	0.00	91.00	LF	80.00	\$40.00	\$3,200.00
		0001	0160	6099903	MISC.MODIFIED TYPE S CURB	23.00	0.00	23.00	LF	0.00	\$70.00	\$0.00
		0001	0170	6161005	CONSTRUCTION SIGNS	503.00	0.00	503.00	SQFT	232.00	\$15.00	\$3,480.00
		0001	0180	6161025	CHANNELIZER (TRIM LINE)	92.00	0.00	92.00	EA	40.00	\$50.00	\$2,000.00
		0001	0190	6161030	TYPE III MOVEABLE BARRICADE	44.00	0.00	44.00	EA	18.00	\$200.00	\$3,600.00
		0001	0200	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	13.00	0.00	13.00	EA	13.00	\$250.00	\$3,250.00
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$40,000.00	\$40,000.00
		0001	0220	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	0230	7250412	12 IN. PIPE GROUP C	155.00	0.00	155.00	LF	215.00	\$60.00	\$12,900.00
		0001	0240	7250436	36 IN. PIPE GROUP C	10.00	0.00	10.00	LF	10.00	\$75.00	\$750.00
		0001	0250	7311052	PRECAST CONCRETE DROP INLET 5 FT X 2 FT	4.00	0.00	4.00	FT	4.00	\$1,000.00	\$4,000.00
		0001	0260	8025006	MULCHING	1.00	0.00	1.00	ACRE	1.00	\$2,500.00	\$2,500.00
		0001	0270	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	1.00	\$3,500.00	\$3,500.00
		0001	0280	8061006	ALTERNATE DITCH CHECK	90.00	0.00	90.00	LF	98.60	\$20.00	\$1,972.00
		0001	0290	8061016	SEDIMENT REMOVAL	18.00	0.00	18.00	CUYD	0.00	\$10.00	\$0.00
		0040	0300	9031270A	2 IN. PSST POST - 12 GA.	74.00	0.00	74.00	LF	74.00	\$35.00	\$2,590.00
		0040	0310	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	7.00	0.00	7.00	EA	7.00	\$300.00	\$2,100.00
	Project J		otal <u>Value</u>	e Post <u>ed to D</u>	Date as of Report Generated Date							\$582,137.85
230915-A02 Ove					ort Generated Date							\$582,137.85



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

#### Project: J1S3393

rioject.												
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	2071000	LINEAR GRADING CLASS 1	6/27/24	7/1/24	19.50	STA	Rte. B Wheeling, MO Livingston Co.	23+37.90		34+78.17		This payment is for the following locations: Rte. B / Wheeling, MO Sta. 23+37.90 to Sta. 24+14.53 _ LT _ 76.6 LF _ 0.8 STA Sta. 26+25.00 to Sta. 27+14.66 _ RT _ 89.7 LF _ 0.9 STA Sta. 31+19.20 to Sta. 33+81.09 _ RT _ 261.2 LF _ 2.6 STA Sta. 31+20.99 to Sta. 42+36.87 _ LT _ 1115.9 LF _ 11.2 STA Sta. 34+78.17 to Sta. 38+80.98 _ RT _ 402.8 LF _ 4.0 STA
0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	6/17/24	6/27/24	185.10	SQYD	Rte. B Wheeling, MO Livingston Co.	35+15.81		38+48.80		Total = 19.5 STA See spreadsheet for field measurements.
			6/18/24	6/27/24	44.30	SQYD	Rte. B Wheeling, MO Livingston Co.	38+56.19		38+71.19		See spreadsheet for field measurements.
			6/19/24	7/1/24	61.30	SQYD	Rte. B Wheeling, MO Livingston Co.	31+29.92		31+53.92		See spreadsheet for field measurements.
			6/20/24	7/1/24	56.40	SQYD	Rte. B Wheeling, MO Livingston Co.	34+88.81		35+15.81		See spreadsheet for field measurements.
			6/27/24	7/1/24	100.50	SQYD	Rte. B & D Wheeling & Ludlow, MO Livingston Co.	26+84.66		31+58.24		These locations were not paid for on accident, base rock was placed in these locations on two separate occasions. See spreadsheet for field measurements.
0070	6039902	WATER - UTILITY ITEM	6/28/24	7/1/24	2.00	EA	Rte. B Wheeling, MO Livingston Co.	32+73.41		37+79.17		This payment is for the adjustments made at the following locations: Sta. 32+73.41_LT Sta. 37+79.17_RT
0100	6081010	CONCRETE CURB RAMP	6/17/24	6/27/24	5.60	SQYD	Rte. B Wheeling, MO Livingston Co.	38+45.98		38+55.98		See spreadsheet for field measurements.
			6/18/24	6/27/24	11.20	SQYD	Rte. B Wheeling, MO Livingston Co.	35+15.81		38+48.80		See spreadsheet for field measurements.
0120	6085007	PAVED APPROACH, 7 IN.	6/17/24	6/27/24	14.00	SQYD	Rte. B Wheeling, MO Livingston Co.	37+47.25		37+65.25		See spreadsheet for field measurements.
0130	6085008	PAVED APPROACH, 8 IN.	6/18/24	6/27/24	44.30	SQYD	Rte. B Wheeling, MO Livingston Co.	38+56.19		38+71.19		See spreadsheet for field measurements.
			6/19/24	7/1/24	55.80	SQYD	Rte. B Wheeling, MO Livingston Co.	31+29.92		31+53.92		See spreadsheet for field measurements.
			6/21/24	7/1/24	56.40	SQYD	Rte. B Wheeling, MO Livingston Co.	34+88.81		35+15.81		See spreadsheet for field measurements.
0140	6086004	CONCRETE SIDEWALK, 4 IN.	6/17/24	6/27/24	119.40	SQYD	Rte. B Wheeling, MO Livingston Co.	36+13.17		38+45.98		See spreadsheet for field measurements.
			6/18/24	6/27/24	173.90	SQYD	Rte. B Wheeling, MO Livingston Co.	35+25.81		38+38.80		See spreadsheet for field measurements.
			6/27/24	7/1/24	4.40	SQYD	Rte. DD Ludiow, MO Livingston Co.	4+70.00		4+70.00		See spreadsheet for field measurements.
0260	8025006	MULCHING	6/21/24	7/1/24	0.50	ACRE	Rte. B Wheeling, MO Livingston Co.	23+37.90		42+36.87		See spreadsheet for field measurements.
0270	8051000A	SEEDING - COOL SEASON GRASSES	6/21/24	7/1/24	0.50		Wheeling, MO Livingston Co.	23+37.90		42+36.87		See spreadsheet for field measurements.
0300	9031270A	2 IN. PSST POST - 12 GA	6/26/24	7/1/24	74.00		Rte, B, D & DD Wheeling, MO & Ludiow, MO Livingston Co.	3+54.00		329+16.00		The following locations are where the signs were relocated: Ludlow, M/O Sta. 329+16.00 Sta. 329+21.00 Sta. 336+48.00 Sta. 336+48.00 Sta. 336+48.00 Sta. 34+64.00 Sta. 34+58.00 Sta. 34+63.00 Sta. 34+63.00 Sta. 34+63.00 Sta. 36+68.00 Sta. 36+68.00 Sta. 42+07.00
0310	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	6/26/24		7.00	EA	Rte B, D & DD Wheeling, MO & Ludlow, MO Livingston Co.	3+54.00		329+16.00		The following locations are where signs were relocated: Ludow, MO Sia 329+16.00 Sia 329+16.00 Sia 329+21.00 Sia 329+48.00 Sia 339+49.00 Sia 339+49.00 Wheeling, MO Sia 34+50.00 Wheeling, MO Sia 34+50.00 Sia 34+53.00 Sia 34+53.00 Sia 34+58.00 Sia 34+68.00 Sia 34+68.00 Sia 34+70.00

The information below this line are details for Construction Signs (if applicable), No Data Available



# Line Item Adjustments by Estimate

Jul 4, 2024

Contract ID: 230915-A02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3393	0050	TYPE 1 AGGREGATE FOR BASE (4	Overrun	Overrun	8	Jul 2, 2024	SYSTEM	(\$595.25)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		IN. THICK)		Overrun - T	otal			(\$595.25)	
			Overrun - Tota	al				(\$595.25)	
			Price FUEL		1	Mar 15, 2024	SYSTEM	(\$31.87)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Apr 2, 2024	SYSTEM	(\$23.18)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Apr 16, 2024	SYSTEM	(\$88.08)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2024	SYSTEM	(\$18.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	May 16, 2024	SYSTEM	(\$3.81)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Jun 3, 2024	SYSTEM	(\$16.75)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Jun 17, 2024	SYSTEM	(\$108.25)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total	8	Jul 1, 2024	SYSTEM	(\$53.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL - T						
	0050 -	T-4-1	Price FUEL - I	otai				(\$343.14)	
			0	0	0		OVOTEN	(\$938.39)	
	0100	CONCRETE CURB RAMP	Overrun	Overrun Overrun - T		Jul 2, 2024	SYSTEM	(\$1,599.00)	
			Overrun - Tota					(\$1,599.00)	
	0100 -	Total	overrun - rota					(\$1,599.00)	
	0120	PAVED APPROACH,	Overrun	Overrun	6	Jun 3, 2024	SYSTEM	(\$1,073.86)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		7 IN.			7	Jun 17, 2024	SYSTEM	(\$2,837.63)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jul 2, 2024	SYSTEM	(\$980.91)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$4,892.40)	
			Overrun - Tota	al				(\$4,892.40)	
			Price FUEL		2	Apr 2, 2024	SYSTEM	(\$15.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Apr 16, 2024	SYSTEM	(\$45.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2024	SYSTEM	(\$29.29)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Jun 3, 2024 Jun 17,	SYSTEM	(\$8.92)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	2024 Jul 1,	SYSTEM	(\$6.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total		2024		(\$122.34)	,
			Price FUEL - T					(\$122.34)	
	0120 -	Total						(\$5,014.74)	
	0130	PAVED APPROACH,	Price FUEL		2	Apr 2, 2024	SYSTEM	(\$11.83)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		8 IN.			3	Apr 16, 2024	SYSTEM	(\$39.58)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2024	SYSTEM	(\$11.22)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Jun 3, 2024	SYSTEM	(\$17.31)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL



# Line Item Adjustments by Estimate

Jul 4, 2024

Contract ID: 230915-A02

	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3393	0130	PAVED APPROACH,	Price FUEL		7	Jun 17, 2024	SYSTEM	(\$116.55)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		8 IN.			8	Jul 1, 2024	SYSTEM	(\$74.27)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$270.76)	
			Price FUEL - T	otal				(\$270.76)	
	0130 -	Total						(\$270.76)	
	0140	CONCRETE SIDEWALK, 4	Overrun	Overrun	8	Jul 2, 2024	SYSTEM	(\$3,433.95)	
		IN.		Overrun - T	otal			(\$3,433.95)	
			Overrun - Tota					(\$3,433.95)	
	0140 -	Total						(\$3,433.95)	
	0260	MULCHING	Material		3	Apr 16, 2024	SYSTEM	(\$625.00)	
					4	May 2, 2024	SYSTEM	(\$1,250.00)	
				- Total				(\$1,875.00)	
			Material - Tota	I				(\$1,875.00)	
			MaterialCredit		4	May 2, 2024	SYSTEM	\$625.00	
					5	May 16, 2024	SYSTEM	\$1,250.00	
				- Total				\$1,875.00	
			MaterialCredit	- Total				\$1,875.00	
	0260 -	Total						\$0.00	
	0270	SEEDING -					0.07514		
		COOL	Material		3	Apr 16, 2024	SYSTEM	(\$875.00)	
			Material		3		SYSTEM	(\$1,750.00)	
		COOL SEASON		- Total		2024 May 2,		(\$1,750.00) (\$2,625.00)	
		COOL SEASON	Material Material - Tota		4	2024 May 2,	SYSTEM	(\$1,750.00)	
		COOL SEASON			4	2024 May 2, 2024 May 2, 2024	SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00	
		COOL SEASON	Material - Tota		4	2024 May 2, 2024 May 2,	SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00	
		COOL SEASON	Material - Tota MaterialCredit	l - Total	4	2024 May 2, 2024 May 2, 2024 May 16,	SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00	
		COOL SEASON GRASSES	Material - Tota	l - Total	4	2024 May 2, 2024 May 2, 2024 May 16,	SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00	
	<b>0270</b> - 0300	COOL SEASON GRASSES	Material - Tota MaterialCredit MaterialCredit	l - Total	4	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2,	SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00	
	0270 -	COOL SEASON GRASSES	Material - Tota MaterialCredit MaterialCredit	- Total - Total	4	2024 May 2, 2024 May 2, 2024 May 16, 2024	SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00)	
	0270 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12	Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total	4	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2,	SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00) (\$2,590.00)	
	<b>0270</b> - 0300	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA.	Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total	4	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2,	SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00) (\$2,590.00) (\$2,590.00)	
	0270 - 0300 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA.	Material - Tota MaterialCredit MaterialCredit Material Material - Tota	- Total - Total - Total	4 4 5 8	2024 May 2, 2024 May 2, 2024 May 16, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00) (\$2,590.00) (\$2,590.00)	
	<b>0270</b> - 0300	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA. Total DRIVEN POST ANCHOR	Material - Tota MaterialCredit MaterialCredit Material Material - Tota	- Total - Total - Total	4	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2,	SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00)	
	0270 - 0300 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA. Total DRIVEN POST	Material - Tota MaterialCredit MaterialCredit Material Material	- Total - Total - Total I - Total	4 4 5 8	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,100.00)	
	0270 - 0300 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA. Total DRIVEN POST ANCHOR FOR 2 IN.	Material - Tota MaterialCredit MaterialCredit Material Material - Tota	- Total - Total - Total I - Total	4 4 5 8	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$0.00 (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00)	
	0270 - 0300 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA. Total DRIVEN POST POST - 2 IN. POST - 12 GA.	Material - Tota MaterialCredit MaterialCredit Material Material	- Total - Total - Total I - Total	4 4 5 8	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,100.00)	
J153393 -	0270 - 0300 - 0310 -	COOL SEASON GRASSES Total 2 IN. PSST POST - 12 GA. Total DRIVEN POST POST - 2 IN. POST - 12 GA.	Material - Tota MaterialCredit MaterialCredit Material Material	- Total - Total - Total I - Total	4 4 5 8	2024 May 2, 2024 May 2, 2024 May 16, 2024 Jul 2, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$1,750.00) (\$2,625.00) \$875.00 \$1,750.00 \$2,625.00 \$2,625.00 \$2,625.00 (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,590.00) (\$2,100.00) (\$2,100.00)	



There are no contract adjustments to display for this contract.